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IITAT IHAT UHETUT (Scholastic Aptitude Test)
eI 5 o e
9T o ST g4 | Yd T T saegEsh uigu|

9. I Ifhd W & AU AR AT T Teh hleToid ITUERT & I | IH W AT
3194 I 3ifeha HT| TeTT THT HHT B o qvETq STT9eh! 98 hreod Jfd g
TR & 3T T YL o IROMH A deh T o I8 TR Wa-! gl |

. YT hg HFehdlsh N S3eh ShHHTH YL o TE@IS W &I T8 T8 T Feuu faaRaw
(T @M | Th & 37 36 ThR) | T I o3 HTh @ & qd wird hifer foh
Jg TN U ok ITER Tl 3 A1 A8 | A8 Ffvaa L fe g oft @ fea 78w

IETET : -
CENTRE CODE h¢ HehdTeh 1 [1]0]2

SEATNO. ¥k HaTh | M| 3 [3 |92 |21 |1]o0o|2|1]2]3

3. I (fvad = o o 3uen! ST for@s & fow s amwan wdieor (Scholastic Aptitude Test)
61 aabre fieh 3 =1 7=

¥. 39 fawa & fau 90 g 81 93 g & fow 1 31 2|
G, Tt g B T SAfEE B

§. Ucd% U % S % foIU YeYfeaer § 9R faehed for u §) 3 @ 9 faehew
CERT qT 39 ShHTh 1 AT hicl AT it T d T W L I I 3Tfehd hIT|
g ¥ ATeh! ITUEHT T I I o A ST & IR T =

b. U8 T H YR L Th % d1G Teh T & hd §Y JHATGH Y qoh A i

¢. i 3uen! forHl Y99 o1 3T 1 3TAT a1 39 W ek THT F | A I BA
| G FA H o oG, I GO H S §Y T W AT G fo=R L Ehd B

R. Ul I A hH & AU e g9 <99 § W sHT ITfeeh-T-37feh 3t 3w
| FHodT Y JEAIRRT o Todh I8 W fGu MU e T w| S|

%0. 39 TIYEAh § thg Hohdleh, Siaeh hHIS AN THodl HE 38 (AT o Wl Tal
o 21
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SCHOLASTIC APTITUDE TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet provided
to you. After examination detach the carbonless copy from original Answer sheet
& keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall ticket.
Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 |1 ([0 |2

SEAT NO. MI3|31912|2|1]1(02(1|2]3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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001. Tr=faRad 4 IIEE Y SRS hiET B ?

(1) el (2) =

(3) o (4) oot

002. 104°F Am9H™ HfcEa® 31 shoegH Sehrs § GRHTY ekt BT ?

e s¥e s¥e she s¥e she Vo 0 b

(1)  40°C 3 273.15°K

(2)  36.9°C 3T 313.15°K

(3)  40°C 3R 313.15°K

SVeaVe sVe sV sVe Ve sV sVe sV sV Ve SV oV
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(4)  36.9°C 3T 273.15°K

003. TrieRia smpfa 1 frier ek Toa St Tg=TR |

o)
P Q
U
S
T
A
N
(1) ‘@@E PQ - TUEdd JSHM
(2) o AO - smufaa feo
(3) T ON - 3frets
(4) o OT - wwafda feor
% %1 7 TIH
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001. Which of the following is an unit of temperature

(1)  calorie (2) joule

3) erg (4) kelvin
002. How much will the temperature of 104°F be in Celcius and Kelvin?

(1) 40°Cand273.15°K

(2) 36.9°Cand313.15° K

(3) 40°Cand313.15°K

(4) 36.9°Cand 273.15° K
003. Observe the diagram and choose false pair

O
P
U
S
T
A
N

(1)  Seg PQ — Reflective surface

(2) Ray AO — Incident ray

(3) Ray ON — Normal

(4) Ray OT — Reflective ray

Space for Rough Work
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004. THE H 3TEd Ugrd U=
iefgTdiet, dieiseet, dlegeliel, deieersia
(1) dieigEe (2) diefdie=
(3) wicfigefief (4) et

005. 39 Ye1d W, hEl verd 1 o fopm otq W st g7
(1) % 9e1d &1 R 3R T &% |
(2) o qerel o geauH 3N Tk SEhe W
(3) fad vered & wueh eEwd W
(4) Tk ygred & goomH W

006. R o Jehicl TR T &FBA Scm? g 3T 3T WK 0.5N 7, A1 Bf g1 Ahe!  a&d T TR

T @ R
(1) 10° N/m? (2) 2 x10° N/m’
(3) 0.2 x 10° N/m? (4) 20 x 10° N/m?
007. WS- fogaed H qHI fagay # favend ———----- IECEIRGGIRY
(1) 20V (2) 2V (3) 1.5V (4) 02V

008. f=fcIfgad § & 319 qgrd & 9k | &H § faum a7 3|
(1) sffga omaaq, Ffvaa R, v gdigaan
(2) Ufae TGH, ST TR, U FHSIam
(3) aUfaes 31raH, IfAfvaa ser, 3= Fdteaarn
(4) AffT=a maH, AMfTaa MR, TTvd adieTar
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004.

005.

006.

007.

008.

Find odd one out

Polypropylene, Polyester, Polyethylene, Polystyrene

(1)  Polyester (2) Polypropylene
(3)  Polyethylene (4) Polystyrene

The pressure exerted on solid by an object depends on
(1)  weight and contact area of object.

(2)  mass and contact area of object.

(3)  contact area of object only.

(4)  mass of object only.

The area of the tip of the screw is 5cm? and it’s weight is 0.5N. Calculate the pressure exerted

by the screw on a wooden plank.
(1) 10°N/m? (2) 2x10°N/m?
(3) 0.2x10°N/m? (4) 20 x10°N/m?

The potential difference between the two electrode in Lead-Acid cell is

(1) 20V 2) 2V (3) 15V 4) 02V

Among the following which is correct statement about solid.

(1)  Indefinite volume, definite shape, negligible compressibility.
(2)  Definite volume, definite shape, negligible compressibility.
(3)  Definite volume, indefinite shape, very high compressibility.

(4)  Indefinite volume, indefinite shape, negligible compressibility.

Space for Rough Work
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009. “‘eafy o TRl & T wreem Y srrevTehdt 8, F T o Afieqor SR STIHE T Wt s gt

FT T T AL

A)  fHaid 99 3% S W, g1 HI AT HA GO, AT hl o ft wH-HA gt [

B) frafd 4u &g B a9 i I &St H g1 2t 39 & fargd Gl i Heht g W,

3Gh! MTaT Bl & WL GATS |

66 S RYERERE R RS
e e b o b b b b

C) et & famior & ford wmew i sTevEehar gl &1

S

p"(

N,

D) ald 99 sIgd G d% ¥ W T g1 I gaT 9gd &1 A Bl S ST IE HR0

%t
e st

forga & Y eTaTer STcga et gATE ¢t

/

2%t
b sbe
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”A
N

(1) B,C,D,A (2) C,D,A,B
(3) D,C,A,B (4) B,A,D,C

010. e 53 1w frferfiad 3 & frg w smaia 27

(1) fogd 9o (2) foga
(3) (4) 3Iwr@r
% %1 7 TIH
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009. Make correct sequence of observations / conclusion given below in the options related to

experiment of ‘sound is necessary for propagation of sound.’

(A) Ifthe vacuum pump is switched on, with decrease in air level, the level of ringing sound
heard decreases.

(B)  When vacuum pump is OFF, the bell jar contains air and key of electric bell is switched
on then ringing sound can be heard outside the bell jar.

(C)  To generate sound, medium is needed.

(D) If the vacuum pump is operated for sufficiently long period, the quantity of air like
inside the bell jar will be low. At this point the level of ringing sound also be very low.

() B,C,D,A 2) C/D,A,B

3) D,C,A B 4) B,A,D,C

010. Function of machine metal detector is based on
(1)  Electromagnet (2) Electricity
(3) Magnetism (4) Heat
Space for Rough Work
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011. E W= YEH=Ra™ % €ai i JeadT a1 il & ?

(1) 0dB (2) 5dB (3) 10 dB (4) 60 dB

012. FEIHIE I ANHh fashid gorel 1 H & S8 H011 hl DR G4 hl SAIH qacl T T

Ve she s¥e sbe v b b b b
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e

61 ST B ?
(1) fecfem (2) e
(3) focest (3rd) (4)

%A

»t
e

013. frerefifa smefasti #f & dIERrm qea 1 el Heu0 TEeR|
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(1) (2) 3) 4)

014. =1 Tfistor =M FHior w1 31 A’ 3R ‘B’ Wafq 3T 91T 9 |

P-I-@%P

(1) A=28B=-2 (2) A=38B=-2
(3) A=28B=-3 (4) A=38,B=-3

015. hTei, Taefiep 3R BIEhd i A | W0 hieh SR T TRAg CgTiées areq T3 |

(1) a~wed (2) Tard=a it gfd
(3) PgufER (4) Tiewenier foher
% %1 7 TIH
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011.  What is the sound level of normal breathing?
() 0dB (2) 5dB (3) 10dB (4) 60dB
012. Rutherford’s nuclear model of atom. Which of the following particles get bombarded with gold
foil.
(1)  Helium (2) Beta
(3)  Silver (4) Gamma
013. Indentify the skeleton of Electronic configuration for potassium.
(1 2 3) 4
014. The given reaction is of formation of ions. Choose correct option for A and B.
P +(:>-——————>»§E,
(1) A=2e,B=-2 2) A=3e,B=-2
3) A=2e,B=-3 4 A=3e,B=-3
015. The Famous Historical Monument is prepared by a mixture of carbon, silicon and phosphorous
mixed in Iron. Identify it.
(1)  Tajmahal (2) Statue of Liberty
(3)  Kutubminar (4) Golconda Fort
Space for Rough Work
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016. SR (Hard) 91 H TG T FAFT A1 BIAT SHRI HRVT FHAIRGd H § ———————— &R 2|
(1) <hesiam 3R BHMET FANlss N Tehe &R
(2) koS 3R A % FANES T Tethe &R
(3) @ifeam 3R AWM & FARSS 3T Tethe &R
(4) Tefm R sichem &% FINISE 3T Tethe &R

017. Fr=fafaa § @ faga s g fofon 7€ @ amem -------- 2l

(1) Kl (2) HCI (3) NaCl (4) MgCl,
018. UfoM -——----- g & 3 3l

(1) e s (2) i T

(3) erEgrEliEh 3T (4) wlagsa
019. e foreres sftwfeeti § ———————- TERA B 2l

(1) NH,OH (2) NaOH (3) Mg(OH), (4) KOH

020. fr=faRea o @ ScpaviE aieds Tg=Tf|
(1) 3T § | Iehiadd
(2) =W\ 1 e
(3) 3™ Ukl
(4)  3SUTAT ST SATET AT9HH & A qIHH i T T

021. & % ITIN & fofF ———————- afweft aEafa 1 3w BT
(1) orgaEn (2) ToeprT (3) m (4) wIEER
022. el ST IS HT & BIohL ITeh I &L U1 h1 T TIR Bt ], ITRT HRVT —————— - I 3|
(1) H, (2) o, (3) co, (4) so,
% %1 7 TIH
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016.

017.

018.

019.

020.

021.

022.

Hard water does not form lather with soap. It is because of the following salt.
(1)  Chloride and sulphate salt of calcium and magnesium

(2)  Chloride and sulphate salt of calcium and sodium

(3)  Chloride and sulphate salt of sodium and magnesium

(4)  Chloride and sulphate salt of magnesium and berillium

The given molecule which does not form electrovalent bond is .
(1) KCI1 (2) HCl (3) NaCl 4) MgCl,

Protein is made up of
(1)  Amino acid (2) Carbonic acid
(3)  Hydrochloric acid (4) Chlorophyll

In Acidity resistant medicines the chemical used is .
(1) NH,OH (2) NaOH (3) Mg(OH), (4) KOH

Identify the reversible change in the following process.
(1) A meteor streaking across the sky

(2)  Melting of wax

(3)  Ripening of mango

(4)  Flow of heat from higher temperature to lower temperature

For the treatment of cancer the medicinal plant used is

(1)  Adulsa (2) Cinchona (3) Neem (4) Periwinkle
Copper ring get corroded by forming a greenish deposition on it. This change is caused by

gas.

() H 2) O 3) Co, 4) SO,

2 2

Space for Rough Work
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023. HEHM EIAT hIY & THE ol had & 7

(1) A (2) B (3) AB (4) O
024, HgHIARH —-—-———- 9% USTSH BIdl &
(1) emfem (2) Head (3) ufem (4) wrH|

025. 3T 9l o IV UL &9 § 7 § & A1 91q IAEI(d G NG FIohL WIS Y@l
ERENETGIR S
(1) =gl () (2) Frem (3) enfeem (4) o

026.  HITTERT H ORI oh I HIATCHS I oh GAN TATIH T T FEl § Hshiid &l 8 7

(1)  <qehforent (2) SATAEATADT
(3) SI® (4) =R
027. Hesh I H AW ———————- N 399 LT 2

(1) THF@U (2) ohgam (3) HHSIEEN (4) caETEE@M

028. T=1 ® © 9 37res Tk gaeafa hifsrem § & a1 87
Mefifds, giaaash, dqehiurehl, Nadiehl
(1) Teifs (2) wiaaas (3) TR (4) ffaaemt

029. 1 8 9 o AT B 7
Stare, Afhen, affafasm, I

(1) am (2)  tftram
(3) Affafrem (4) Ffemn
% %1 7 TIH
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023. Which of the following Blood group is known as ‘Universal Donar.’
(H A 2) B 3) AB 4 O
024. Saliva in mouth contains enzyme.
(1)  Ptyalin (2) Maltose (3) Pepsin (4) Mucous
025. Due to ‘Acid Rain’ which of the following metal indirectly absorbed by plants and thus enters
food chain.
(1)  Mercury (2) Uranium (3) Thorium (4) Lead
026. Which of the following functional unit of the cell transfers herited traits to next generation.
(1)  Mitochondria (2) Endoplasmic Reticulum
(3) Gene (4) Lysosomes
027. When in water, frog breathes with
(1)  nose (2) cannal (3) lungs (4) skin
028. Which of the following organelles is found only in plant cell. Golgi complex, chloroplast,
mitochondria, vacuole.
(1)  Golgi complex (2) Chloroplast
(3)  Mitochondria (4) Vacuole
029. Which of the following is Fungus.
Algae, Amoeba, Penicillium, Euglena
(1)  Algae (2) Amoeba
(3)  Penicillium (4) Euglena
Space for Rough Work
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030. =T STeRfa | e A Ut 7 7
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031.
(1)  10pm ¥ 100 pm (2) 1910 um
(3) 200 pm (4) 10 nm & 100 nm
032. grefitr ———————- TTeT g=a § Bial 2l

033. = ¥ 9 3757q e UEATHT

% %1 7 TIH
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030. Identify the scientific instrument shown below.

(1)  Simple microscope (2) Compound microscope
(3)  Telescope (4) Periscope

031. Size of virus is approximately .
(1) 10 um to 100 pm (2) 1tol1l0pum

(3) 200 pm (4) 10nm to 100 nm
032. ‘Elephantiasis’ is caused due to female of mosquito.

(1)  Anopheles (2) Culex

(3)  Aedes aegypti (4) Den-1

033. Find odd word out of given below.
Earthquake, Tsunami, Drought, Bomb-blast

(1)  Earthquake (2) Tsunami
(3)  Drought (4) Bomb-blast
Space for Rough Work
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034. =1 ¥ 9 e faum vg=nfau)

(1) dgenivTeRt 3911 & TG ATP Aifireni &1 FHfor Ll 3

(2)  fdferaert shifsrent o1 wrERefa g FEha wrd 21

(3)  STaviciaehi o HRUT Bed AT Bl i TT T BT 2|

(4) giacas TR 3T 1 AT SHich ST TEIH I T FITAT Hid 2|
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035. T o & SATEIha W Jallad saTel! WadTig] hiTE a7
(1) gogahm (2) gogmen
(3) 3ecdmarea (4) srmETRiR

036. s H fe¥rd AUIWEH ST W 1 o A1G §H hIF § HEM Tad! ohl SIMehRI THerd! 3 ?
(1) Targ=Er fa. 1. g (2) wETEHT SAAE %ot
(3) <A et (4) wgreA mied

037. fr=fefaa gemsti =1 afz su quiHaren fasmed =
) Ha3 H ¢ gL 59 31% de8 I gSaid o |1 @rd|

)  SferAaTen an gemehis|

) TEEIN G i Tafig foma|
IV) TS UE o 3idid T qidl’ <hl T&maT|

(1) ILLIILIV (2) OLILIV, 1
(3) ILILIV,I (4) LILIV,1I
% %1 7 TIH
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034.

035.

036.

037.

Find out false statement from given below.

(1)  Mitochondria prepares energy rich ‘ATP’ compound

(2)  Vacuoles regulates osmotic pressure of the cell

(3)  Various colours of flowers and fruits are due to leucoplasts

(4)  Chloroplast absorbs solar energy and converts it into chemical energy

Which of the following blood vessel carries oxygenated blood.

(1)  Pulmonary vein (2) Pulmonary Arteri
(3)  Superior vena cava (4) Inferior vena cava
Whose information we get at Manibhawan in Mumbai?

(1)  Swatantryaveer Sawarkar (2) Mahatma Jyotirao Phule

(3)  Lokmanya Tilak (4) Mahatma Gandhi

Find out the correct option as per the chronology of events.
(D Prince of Wales, welcomed by organizing Hartal
(IT)  Jallianwala Baug Massacre

(IIT)  Supension of Non-cooperation movement

(IV) The Swaraj party was established by Indian National Congress

(1) ILLIILIV (2) TLIL1V,1
3) IL, IO, IV, T 4) LIILIV,II
Space for Rough Work
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038. 1858 o WA % ITIER gU dgd 1<l faq 8| Hwfaifgd # € 7etd foshed =1
(1) e sfean soeht =1 wmee @ fopam)
(2) ITHE S SR W TSR SRS 61 ug i femam|
(3)  wrawst o1 ug fAmfor foam|
(4) TR TS h 8 W HER 61 ug fmior fmam|

039. TSAT HEE & AT AREYOT F - - - T STEEINT IS HI TEATE @ 3R Tt 3 38
Tfid! wgH |
(1) TN AR (2) 9. AT AEE
(3) ToxisH €@ (4) T 8w

040. I TUH 3 WA T ATSHAU fham A1 IHRT TfdehR i o T WRART <1 ggam it safer™

THIE fheH &1 qRd § forEe ST ?
(1) foem afda (2) T HaeHTes
(3) IS Tehae (4) S fermferemy

041. 1773 3. o TQITET Tae o STHR SN oh TE- SR Ug WX feohereh! fgert fop it 2

(1) e doreett (2) @fE HiHai™
(3) e g gfeen (4) @S w3
% %1 7 TIH
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038. Changes made by the Government of India Act 1858 are given below. Find out the wrong
statement related to it.
(1) It ended the Rule of British East India Company
(2)  The Voiceroy of India was now designated as The Governer General
(3)  Anew post of secretary of state was created.
(4)  The Governer General was now designated as The Voiceroy of India.
039. The resolution of Non-cooperation movement put forth by was accepted in The
Indian National Congress session held at Nagpur.
(1)  Lala Lajpat Rai (2) Pandit Jawaharlal Nehru
(3)  Chittaranjan Das (4) Motilal Nehru
040. Who sent Sir Stafford Cripps to India to get Co-operation from the Indians, if Japan attacks
India.
(1)  Winston Churchill (2) Ramsaye Macdonnald
(3)  Lord Burkonhead (4) Lord Linalithigo
041. According to Regulating Act of 1773 who was appointed as The Governor General of Bengal.
(1)  Lord Wellessly (2) Lord Cornwallis
(3)  Lord Warren Hastings (4) Lord Curzon
Space for Rough Work
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042. T ¥ fewrE T sgerdt wHE gear 9 gesfia 2 ?

(5 2 Y 2 AE RS A AE NS
e 5% ¥ s¥e s¥e 5o s¥e s¥e s

N,

%t
e st

#nnngngngngugugugugugngnuu

7FHF%F%FHFHWHFHFHFHFHFHFHF

(1) O H STTHETicTent MW i IEATT
(2) Y3 § WA AR § I AT Gt

(3) g g 1 Aqcd R
(4) firoft F1g =1 w3 foRa|

043. AN H guivyerdt Sh wraT fmTor S Taned @ Sl FHi@ AL, I8 I U TH Wl 3gev o7
(1) YRd Has ga (2) T THS
(3) o Tu (4) Iy THS

044. ‘HmaEsE i A wifdes afient w1 SRy fered feman?
(1) YIS TTeRt (2) weM fagea THsh fR1g
(3) Ui Tt AT (4) f3rerm e e

045. Has TR fm § ges Afgd aYad HEIse i TEdrE fohed W@ e

(1) om=m s (2) SO ST
(3) vhWE qE (4) ©H.H. S
% %1 7 TIH
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042. Observe the Reformer in the picture and choose the event which is related to the respective

reformer

(1)  Started Aanath Balikashram at Pune

(2)  Foundation of work schools at Paral Devenar in Mumbai
(3)  Leadership accepted of Mulashi Satyagrah

(4)  Foundation of Mill workers organization

043. ldentify the society which had objective of creating love for country. Teach them sacrifice of

self interest.
(1)  Servants of India Society (2) Prarthana Samaj (Society)
(3)  Aarya Samaj (Society) (4) Satya Shodhak Samaj

044. Who started the magazine called ‘Somavanshi Mitra.’
(1)  Gopalbaba Valangkar
(3)  Perriyar Rama Swamy Naykar (4) Shivram Janba Kamble

(2) Maharshi Vitthal Ramji Shinde

045. Who put forth the proposal of Samyukta Maharashtra with Mumbai in the Mumbai Municipal

Corporation?
(1)  Aacharya Atre (2) Senapati Bapat
(3)  Shankar Rao Dev (4) S. M. Joshi

Space for Rough Work
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046. TTaTS AR o BRI 3R 3ok Ug quIHaT TSt § & Terd el Igal |
(1) st % - T favm sgE
(2) TR YEaud - et
(3) dreAaEE - o % IqE Al
(4) Eewa wifgd - SEEHT % T

047. Togaa Tmsht B ®H § TA & Fae 947
(1) 31 oo (2) wHIMYS THS
(3) wnelaT TuT (4) SR TETS

048. 39 < FHG ATfIeh P F IATG H WRA foh R SIHAT JTAHW hl TS i o @ gt

I R/ Hepet ?
(1) 15 <t wrarsdt (2) 16 & srarsd
(3) 17 ot raredt (4) 18 &t srared

049. 1869 3. H TIraTSi HegrS W forga qramer foran ?
(1) <A foetes (2) gy erTR
(3) WETeHT SAE ot (4) foame ooy wRedt

050. If3Tfera |1 % o W &, W, Tl & ATCHEHYU A ATl HUST TER i o1 ?

(1) HcgruE Bl (2) TEESH WiEe
(3) = wEaviE (4) werest g
% %1 7 TIH
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046. Shivaji Maharaj appointed the council and the Heads of various department on the basis of
their merits and achievements.
Identify the option of wrong pair out of it.
(1)  Bahirji Naik — Head of the intelligence department
(2)  Moreshwar Panditrao — Dispensing justice
(3)  Daulat Khan — The Chief Naval Commanders
(4)  Hambirrao Mohite =~ — Sarnobat of the cavalary
047. Identify the name of the society where Maharshi Vitthal Ramji Shinde served as a member?
(1)  Aarya Samaj (2) Satya Shodhak Samaj
(3)  Prarthana Samaj (4) Bramho Sama;j
048. Identify the period of Century when the European sailors went on expedition to discover sea
route to India?
(1) 15" Century (2) 16" Century
(3) 17" Century (4) 18" Century
049. Who composed a Powada on in 1869 CE on Shivaji Mahara;j?
(1)  Lokmanya Tilak (2) Ravindra Nath Tagore
(3) Mahatma Jyotirao Phule (4) Pitamah Subramanyam Bharati
050. Who subdued the Rohillas, the Jat’s, the Bundellas with the help of his trained army?
(1)  Malharrao Holkar (2) Parsoji Bhosale
(3) Nana Fadanavis (4) Mahadji Shinde
Space for Rough Work
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051. A | IHA JUell § faem deet SR SRl Hodl Tcaered ¥ Tsh gl T STelond T8l aid ¢
(1) w&c= (2) areuei
(3) TuTSETE: (4) S=ad
052. TSIAW o HA TG H H —————-—- TEH T ST 3TN heeid Jeul & g4 I 7
(1) 250 (2) 12 (3) 288 (4) 238
053. XA § $d 29 Th TSH g fehq faemasmatiht T —------- 3l
(1) 29 (2) 30 (3) 31 (4) 32
054. T, Shal, Godl oh AL AKKIH ATAHTE T, FAT TG TR o UL i F BT b ER
W g Tl S 27
(1) wiSert (2) <Et (3) SR (4) eI
055. SHfEd & [T IEA i BIE B A & AT & THarer =EerRi| 3mes —-—-——-- H
(1) wwEem (2) TISERT | T BT
(3) s 3w (4) <& geaeften
056. Tt Hieet = 3fiEd o e ————-—-- Bl
(1) 2.90 39 yfc == ot (2) 3.3 v yfq o= ot
(3) 5.7 39 fq == ot (4) 9.8 3q yfer o= At
057. MY Y GEId: AgHT B & 7
(1) foa= (2) fotregem
(3) Fetegegaw (4) @Il Tem
% %1 7 TIH
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051. In which form of government the legislature and executive are not directly dependent on each
other?
(1)  Parliamentary (2) Presidential
(3)  Socialism (4) Military Rule
052. members are elected from the constituent states and union territories among the
total membership of Rajya Sabha.
(1) 250 2 12 (3) 288 (4) 238
053. Though India has 29 constituents states, the total numbers of Vidhan Sabha (Legislative
Assembly) in India are
(H) 29 (2) 30 3) 31 4 32
054. Which law is dealt with the crimes like theft, robbery, dowry, murder etc.?
(1)  Criminal (2) Cuvil (3) Worker (4) Military
055. The order of the courts commanding the government to perform an action that is it’s duty to
perform in public interest is called
(1)  Mandamus (2) Quo-warranto
(3)  Prohibition (4) Habeas Corpus
056. The density of the lower mantle is about .
(1) 2.90gm/cm? (2) 3.3 gm/cm?
3) 5.7gm/cm? (4) 9.8 gm/cm?
057. clouds are mainly wispy.
(1)  Cirrus (2) Cirro - stratus
(3)  Cirro - cumulus (4) Alto - stratus
Space for Rough Work
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058. T A€ UgAHI|
A) I TELYAT T - e
B) M W - Teeh
C) H™® I - H&
D) 78 9e¥ - H-cH Hae
(1) A (2) B (3) C (4) D
059. fawa & —————-—- et faam fope T R
(1) 24 (2) 15 (3) 60 (4) 4
060. TEEWR i 3frEd Taus Hie fhaq dex 27
(1) 3600 (2) 8848 (3) 3700 (4) 11034
061. & SR et arer fasheq <A
37— T A -9 &
1) | 9 A) | IAc9E Tdd i gAH °
2) | W B) | 3IW 9ra & A wem
3) | = O |  TEw 3N 3R Heeerd
4) | Teom D) | bl wedd i gd Gl @
(1) 1-B, 2-A, 3-D, 4-C (2) 1-A, 2-B, 3-C, 4-D
(3) 1-D, 2-A, 3-D, 4-C (4) 1-B, 2-C, 3-A, 4-D
% %1 7 TIH
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058. ldentify the wrong pair.
A) Hot Desert Region - Camel
B)  Taiga Region - Elks
C)  Grasslands - Kangaroos
D)  Tundra Region - Tse-tse Fly
(H A (2) B 3 C “4 D
059. The world has been divided into time zones.
(1) 24 2) 15
3) 60 4 4
060. The average depth of the ocean is around meters.
(1) 3600 (2) 8848
(3) 3700 (4) 11034
061. Identify the option of correct pairs.
A - Name of the wind B - Areas of influence
1) | Loo A) | From the Alps mountain
2) | Bora B) | Blows in the North Indian plains
3) | Chinook C) | From the Sahara and Arabian desert
4) | Simoom D) | From the slopes of Rocky mountain
() 1-B,2-A,3-D,4-C 2) 1-A,2-B,3-C,4-D
3 1-D,2-A,3-D,4-C 4 1-B,2-C,3-A,4-D
Space for Rough Work
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062. & =gHT gl § ATerepIiae gL gl @ a8 feuret =igmn &l -------- feerdt Bt 21
(1) 3o (2) o1y
(3) =gmEw (4) whew
063. gt % ohg H AOHN HAF —--———-- H——mm o BT 2l
(1) 2200° & - 2500° & (2) 2500° @ - 5000° &
(3)  5500° & - 6000° & (4) 2000° @ - 2200° &
064. FAR geell ol Iedfel AT —-—--——- S N1 9 g3 |
(1) 560 (2) 260 (3) 360 (4) 460

065. 9l % ZIET T ShIS T ATIHM HUS foha T © . 27
(1) 2500 (2) 6000 (3) 5000 (4) 2870

066. = fu T Thel H ‘A7 18R § @Y T WEMTRE T el % Y -3AThide! AH Tg=H! |

AD

(1) wwid (2) wmTE fem
(3) wrE g (4) wEQETE e
% %1 7 TIH
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062.

063.

064.

065.

066.

When moon is at the farthest, the position from earth is called
(1)  Perigee (2) Apogee
(3)  Lunar Eclipse (4) Solar Eclipse

At the centre of the earth, the temperature is around

(1)  2200°C to 2500°C (2) 2500°C to 5000°C
(3)  5500°C to 6000°C (4) 2000°C to 2200°C
Our earth was formed approximately billion years ago.

(1) 560 (2) 260

3) 360 (4) 460

The temperature of the liquid outer core is around °C.

(1) 2500 (2) 6000

(3) 5000 (4) 2870

Name the landform shown with letter ‘A’ in the given figure.

AD

(1)  Marine Trenches (2) Abyssal Plains
(3)  Marine Island (4) Continental Shelf

Space for Rough Work
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067. WRd # &%l H TN F ———————- Ig Hed weT TS 3|
(1) SeRHew (2) wewTSg
(3) wHeEwew (4) TSEAN

S UERE RS RERERE

e s¥e s¥e she s¥e she sV b

068. “WERISE TSA YHT 39ASH 2010-11" 38 Thd! H “D” I8 &R i &7 fe@mar a8 7

SRS
e sbe 3

%A

»t
e
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(1) vt &= (2) et o fofw TgacTey
(3) o & (4) it A opehh

069. ‘TN T MR qIIcd §H TehodHdT o STIAR TEMH THEH 3794 TATh H & % I &Y
fepaft fcrera Teft TwTSioRft SRt § @< et =T ?

(1) 3% (2) 2%
(3) 1% (4) 4%
070. Tsh TagY IUfd ———————- T Hiex ufcdehe T &t BT 2|
(1) 9.8 7™ (2) 5
(3) 10° (4) 3
% %1 7 TIH
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067. Areawise is the large state in India.
(1)  Uttar Pradesh (2) Maharashtra
(3)  Madhya Pradesh (4) Rajasthan
068. In the figure of Maharashtra state land use 2010-11. Which one is indicated by letter ‘D’.
(1)  Fallow land (2) Non agriculture land
(3)  Area under forest (4) Area under crops
069. Under Corporate Social Responsibility industries are expected to spend atleast of
their profits on acts benefitting the society.
() 3% 2) 2%
3 1% 4) 4%
070. Sverdrup unit is equivalent to million cu.m/seconds discharge.
(1) 9.8gm 2) 5’
3) 10° 4 3
Space for Rough Work
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071. HIH DIl Thd HEAT IR FaH TSI K0T YUIh FEAT 1 qHEd Tohd-T BT 7
(1) 0o (2) 1
(3) 2 (4) 8

072. 24389 1 TYA TehaHT BT ?
(1) 19 (2) 29
(3) 39 (4) 49

073. 10,000 ¥9 Y8 1 J. . T. & o hIE] @ H 2 I9 1 Ash (e TS SR LRI AT H 81
3 1 qEEd ol A AN R o ?

(1) 8% (2) 7%
(3) T 9% (4) % 10%

074. (x+9N@x-7)= 7

(1) x*>+16x-63 (2) x*+2x-63
(3) x*-2x-16 (4) x*-2x-63
TF 1 3q T
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071. Find the difference between smallest natural number and biggest negative Integer?
(1 0 (2) 1
3 2 4) 8
072. What is cube root of 24389?
(1) 19 2) 29
(3) 39 4) 49
073. For a principal X 10,000 the difference between Compound Interest and Simple Interest for 2
years is X 81 Find the rate of interest?
(1) T8% 2) 7%
(3) T 9% 4) 10%
074. G+ x-7)=7?
(1) x*+16x—-63 2) x*+2x-063
3) x*-2x-16 (4) x*—2x-063
Space for Rough Work
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075. 1 ABCD ¥ ‘O’ g dTdl 9d 3 &l ‘O’ ohg Tl 39 Jd ol BSAT 14cm B Al T@ifehd WA

1 B TohdHT B

A B

e s¥e s¥e she s¥e she Vo 0 b

SVeaVe sVe sV sVe Ve sV sVe sV sV Ve SV oV
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Ve Ve s¥e she
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W)

D C
(1) 164 =@, (2) 168 =r.&.4,
(3) 172 =t.@.. (4) 184 =@,

076. 40 WG T ™ 18 T H 9ol ohad B A1 36 AIIGU ! F&1 M HiA H fehad o Tril ?
(1) 20 (2) 21
(3) 24 (4) 26

077. |HTRYS & @ IV b AT (4x —20)° IR (100 —x)°B A x = ?

(1) 5 (2) 10
(3) 15 (4) 24
% %1 7 TIH
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075. A circle with centre O having radius 14 cm is inscribed in a square ABCD. Find the area of

shaded portion.
A B
/ 14 cm
%: |
D C
(1) 164 sq.cm (2) 168sq.cm
3) 172 sq.cm (4) 184 sq.cm

076. 1f 40 labourers can complete one work in 18 days then 36 labourers can complete the same

work in how many days?
(1) 20 2) 21

3) 24 4) 26

077. If opposite angles of a parallelogram are (4x — 20)° and (100 — x)° then find the value of x?

(1 5 2) 10
3) 15 4) 24
Space for Rough Work
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078. T GhMGR 7 3fehd Hed W 15% e <ot Teh E1el 1020 w9l H o=t 1 WISl 1 3Alehd qod

fepaan?
(1) 1500% (2) 1300 %
(3)  1200% (4) 1100 X

079. P % & Yo 3R I Furferse v HatmEw & A1 98 By HE wEd ¥ gatmEm 2
(1) H-a1-7H (2) - -
(3) W - - (4) @1 - @ -

080. fy=fciRaa o @ ufy Te it 2|
(1) % (2) 3.142857

(3) V4 (4) V71

081. 4 ™ @ars, 3 #f =ierE 3 1.5 ot 3978 arefl Shl o=1E a1 39 | fehaan forex urit wm ?

(1) 1800 (2) 18000
(3) 1500 (4) 15000
% %1 7 TIH
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078.

079.

080.

081.

One shopkeeper after giving a discount of 15% sold one saree to customer for I 1020. Find

the marked price of saree?
(1) 1500 (2) X 1300

(3) 1200 4) T 1100

If two sides and angle included by those two sides of one triangle is congruent to corresponding

two sides and angle included of other triangle.
Then those two triangles are congruent by which test of congruency?
(1) A-S-A 2) S-A-S

3) A-A-S 4) S-S-S

Which is the irrational number from the following?

O ()  3.142857

3) V4 @ V7

Water tank of length 4 m, breadth 3m and height 1.5 meter is constructed. How much litre
water the tank can hold?

(1) 1800 (2) 18000
3) 1500 (4) 15000
Space for Rough Work
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082. (X?+17x+70)+(x+10)=7
(1) (x+12) (2) (x+7)
(3) (x+14) (4) (x+17)

083. THUE A diF 911 98 Tk R 600000 T § @l 3R fordree et 10% BT a1 1) hl 3T

&1 T o g ?
(1) 437400 3 (2) 438400 T
(3) 437500 3 (4) 438490 T

084. T TTHIA % 6 T3 (F) MM 12 R (E) 8| A 38 TR bl 2Muiforg (V) foreet g ?
(1) 10 2) 6
(3) 8 (4) 14

085. 10T Y el WS IS 1 &hes foha ?

(1)  50V3 =hesf. (2) 10V2 <.
(3) 252 = (4) 253 <he.
% %1 7 TIH
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082. (x*+17x+70)+(x+10)="?
(H (x+12) 2) @x+7)
3 (x+14) @4 @x+17)
083. 3 years back Ramrao purchased a car for ¥ 600000. If its rate of depreciation is 10 % per year.
Find the present value of a car.
(1) 437400 (2) 438400
(3) 437500 (4) 438490
084. A cube is having 6 faces (F) and 12 Edges (E). Find the number of vertices (V) of the cube?
(1) 10 2) 6
3 8 4) 14
085. Find the area of an equilateral triangle having side 10 cm.
(1) 503 sq.cm (2) 10y2 sq.cm
3) 25\/§'sq,cn1 4) 25\/§'sq.cn1
Space for Rough Work
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086. m’®+27 % 999 FHfIREd § & &4 87
(1) (Mm+3)(m*+3m+9) (2) (m+3)(m*+6m+9)

(3) (M+3)(m*-3m+9) (4) (m+3)(m>—6m+9)

087. Ush IRl RO H 3R XfiXi= 1740 M N=25dq1 X = ?
(1)  59.5 (2) 69.6
(3) 17.4 (4) 78.5

088. X —2x-35 x’—2x+15 _ 2
x*—4x 21 x*=25

(1) 1 (2) x+5
(x+3)
(3> x-3 (4) (x—7)

089. SXHt7_ 3. - ¢

9
(1) 27 (2) 4
(3) 3 (4) 9
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086. What are the factors of m* +27?
() (@Mm+3)(m>*+3m+9) 2) (M+3)(mM*+6m+9)
3) mMm+3)(m’-3m+9) 4) (m+3)(m’-6m+9)

087. Ina frequency distribution table if £fiXi = 1740 and N = 25. Find X = ?
(1) 595 (2) 69.6
() 174 (4) 785

2 2
088. x"—2x—35  x"—2x+15 _9

x*—4x—21 x*—25
(H 1 (2) x+5
(x+3)
® x-3 @ 7
089. % =3 thenx=7?

(1 27 2) 4

3 3 @ 9
Space for Rough Work
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i hl Y1 = 60 WX, ARST &I Ul = 61 WX, @S PQRST I &%hel foha 1 ?

090.

N

Ve &

Ve &

[ IR

Ve &

2l 09

Ve &

Ve &

Ve &

T[]

6]177;;

%
N

S
e 53

S
e 53

S
e 59

S
e 53

S
e 53

S
e 53

%

S

S

S

S

S

S

HER¢
R
HERE

N\

Seste

HERE

Seste

KA

e nt
R
k%S

(2) 360 =1,
(4) 3930 =4

3600 =it 9.
3660 =it

(1)
(3)

% %1 7 TIH
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090. From the information given below find the area of plot PQRST?
Side of square = 60 metre

Hypotenuse of ARST = 61 metre

"o+t ©
2
© | £
< T
S
O
T H [IR
67
Ihel‘re S
(1) 3600 sq.m (2) 360sq.m
(3) 3660 sq.m (4) 3930sq.m
Space for Rough Work
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T & g W

RN e 5% s sYe sYe %
KRS SRS S
R e 3% s¥e sVe s¥e ste
KRS SRS S

46 of 48

| NMMS-SAT-21-22 | VIII| S3 |



NN

N/
%
N
L/
N

RNt
RARA
RNt

R
nERE
R
HERE
sesve
K\
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Seste

T & g W
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RNt
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